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NOT TO
SCALE
ABCD is a cyclic quadrilateral in the circle, centre O.
Angle DCB = 94°,
(a) Calculate .\/c r"' c t/-ww[ . c/ -+ ‘f i = J,YV
(i) angle DAB, - 8K ¥ g9
ARSWER(@D) oD [1]
(i) the reflex angle DOB, = gty (anyle © cnter)
Answer(@)Gii) ......... i [1]
Tecocels (e duyls 2qeall
(iii) angle OBD. S [ Ceocelag ( Pree da; ™ el
e ~72° )
1Y ¢ L g°
= Answer(@(ii)  .......mmenn AR [2]
(b) Angle BDC = 40°.
An = Y-
Calculate angle DAC. cA B /e
6{\/((\ O Z\'Ml o O = X 6
g6 ~4o APSWEr(b) ..o A 2]
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NOTTO
SCALE
C and D are points on the circumference of a circle.
AB is a diameter of the circle and angle ABC = 55°.
Find
x+55 = (8°
(i) angle ADC, .
X = 123
AW @GD) .. I
(ii) angle CAB. i %0 —-qo-§ < = qo-$§
= D
ABSWE(@(H) ..o e
(b)
NOT TO
SCALE
F .

In the diagram angle POR = 110° and angle RST = 150°. s

PO =0R and PQ is parallel to ST.

Find

(i) angle PRQ, ¥ ¢+ = 1@

ZxX = Fe
- 27 - i
75T ANSWEB)0) oo
(ii) angle ORS.
§0°
LT T R ———
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NOTTO
SCALE

TA and TB are tangents {o a circle centre O.
C is a point on the circumference and angle 40B = 140°.

) . ldo +_ — ‘)60_
(i) Find angle ATB. go + U0 / X S
1 2
ATSWER(DD) oo reeeeeseen e s 2]
i i B' \ | - . -
(i) Find angle AC. e ik guad < (o + < = [yo
AnSWEr (D) . e 2]
(iii)  On the diagram, draw the chord AB.
The radius of the circle 1s 5 cm. //
Calculéitehthe length of the chord 4B. o o
i M /

= Answer(c)(ii1)
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